
                                                                           

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Main Specifications:  



                                                                           

TMG-RS10 Part List 

Parts code Parts profile Qty 

1 

 

1 

2 

 

1 

3 

 

1 

4 

 

1 

5 

 

1 

6 

 

1 

7 

 

1 

8 
 

1 

9 

 

2 

10  2 

11 
 

1 

12 

 

2 

Page 1 of 10

Administrator
线条

Administrator_1
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819



                                                                           

13 
 

15 

14 

 

15 

15 
 

4 

( M12x20) 

16 
 

4 

( M12x140) 

17 
 

60 

( M10x30) 

18 
 

76 

( M12x40) 

Page 2 of 10

Administrator_2
线条

Administrator_1_1
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819



PART NO. Qty.

1 1

2 1

3 1

18 20

1

18

18

1

18
18

2

1

Note: Keep all bolts from Step 1 to 6 loose, do not tight firmed yet. 

Page 3 of 10

Administrator_3
线条

Administrator_1_2
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5
文本框
    Step 1:



2

3
1

18

PART NO. Qty.

4 1

5 1

18 16

18

2

5

18

18

18

Page 4 of 10

Administrator_4
线条

Administrator_1_3
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_6
线条

Administrator_5_1
文本框
    Step 2:

Administrator_5_2
文本框
    Step 2:



PART NO. Qty.

8 1

9 2

16 4

5

4

89

16

16

8

4

9

16

9

5

16

8

Page 5 of 10

Administrator_7
线条

Administrator_1_4
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_3
文本框
    Step 3:



PART NO. Qty.

10 2

18 16

5

10

1
18

4

Page 6 of 10

Administrator_8
线条

Administrator_1_5
文本框
      WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_4
文本框
    Step 4:



PART NO. Qty.

6 1

7 1

18 16

10
3

7

Page 7 of 10

Administrator_9
线条

Administrator_1_6
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_5
文本框
    Step 6:

Administrator_5_6
文本框
    Step 5:



PART NO. Qty.

11 1

18 4

11

Page 8 of 10

Note: Please tight all bolts firmly at this step before starting Step 7.

Administrator_10
线条

Administrator_1_7
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_7
文本框
    Step 6:



PART NO. Qty.

13 15

14 15

17 60

14

17

13

17

1713

Page 9 of 10

Administrator_11
线条

Administrator_1_8
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_8
文本框
    Step 7:



PART NO. Qty.

12 2

15 4

18 4

12

18

15

12

Page 10 of 10

Administrator_12
线条

Administrator_1_9
文本框
     WWW.TMGINDUSTRIAL.COM                                               Toll Free: 1-877-761-2819

Administrator_5_9
文本框
    Step 8:


